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1. What is a diffraction grating ?

Ans. Itis an optically flat glass plate on which large number of equidistant parallel lines are

ruled by a fine diamond pen. The space between the successive lines are transparent
while the lines drawn are opaque to light.
2. What is grating element ?

Ans. Grating element is the distance between the centres of any two successive ruled lines or

transparent strips.
3. What is dispersive power of grating ?

Ans. Itisthe rate of change of angle of diffraction with the change in wavelength of light used.

It gives an idea about the angular separation between the lines of a spectrum produced
by the grating.
4. When even orders spectron are absent in a grating spectrum ?

Ans. If the width of the clear space and ruled space is made equal in the grating then even

order spectra will be absent.
5. What is difference between a prism and grating spectrum ?

Ans. Ingrating spectrum violet colour is least deviated while red colour is deviated maximum.

‘The sequence of colours in prism spectrum is reverse than that of grating spectrum.
6. How many orders of spectra are seen here ?

Ans. Only first and second order spectra are observed.

7. Why more than this orders are not possible ?

Ans. We Know that (e +d)sin@=n}

. e+d
8in B = 1 n==
. e+d)
eraz 2, oD s

15000 %= 5893x107
Thus, third order spectrum is not possible.
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8. Why is the red colour diffracted most in case of grating ?

Ans. Inthecase gratingsin8= i.e. angle of diffraction is proportional to the wavelength

L
(e+d)
and the wavelength of red colour is greatest and hence the red colour is d*fracted most.

9. Which gives more intense spectrum and why—a prism or a grating ?

Ans. A prism gives more intense spectrum than a grating because in prism entire light is
concentrated in one spectrum while in the case of grating incident light is distributed
into the diffraction spectra of various orders on both sides of the direct image.

10. Why is the light made incident on the side of grating on which there is no
rulings ?

Ans. To avoid the refraction of diffracted light.

11. What will happen if transparent part of the grating is made equal to the opague
part?

Ans. See Ans 4.

12. What is dispersion of light ?

Ans. When a ray of light passes through a prism it splits up into its constituent colour. This
phenomenon is known as dispersion,

13. Define dispersive power of any material.

Ans. W= 88 i.e., ratio of angular dispersion between the emergent violet and red rays

and deviation suffered by yellow emergent ray.

Can you find dispersive power of prism with sodium light ?

Sodium light is a monochromatic source of light and so we can not get dispersive power.
‘What are the essential parts of a spectrometer ?

Collimator, prism table and telescope.

How will you adjust the collimator ?

Collimator and telescope are brought in a line and the image of the slit is seen through
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the telescope. The slit of the collimator is moved in and out by the rack and pinion
arrangement till a fine and focused image of the slit of the collimator is obtained.

How will you level optically the prism table ?

The refracting edge of the prism should be parallel to the axis of rotation of the prism
table and the slit.

‘What type of eye-piece is used in this spectrometer ?

Ramsden’s eye piece.

Why do you use two verniers in this experiment ?

To remove the error in reading that we get due to not coinciding the axis of rotation of
prism table and the telescope.

What is spectrum ?

When white light passes through prism. It splits up into its constituent of seven colours.
How many types of spectra do you know ?

Emission spectrum, absorption spectrum.

Experiment No. 6
Determination of specific resistance of a given wire using Carey Forster's (C.F.) bridge.

Apparatus
C.F. bridge, Leclanche cell, resistance box, galvanometer, rheostat, unknown resistance wire,
and copper strip.
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